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30 =

40 =

12 -

80 =

50 =

20 =

What number is in each gift?
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JDHAGT'S 11 GHE GIFG (A) ADSHER S

What number is in each gift?

30 6 5
40 5 4
12 2 4
80 8 8
50 10 4
20 2 3
20 10 5
45 5 10
42 7 2
40 10 5
6 3 6
48 6 2
12 6 3
90 9 3
24 3 2
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JDHAT'S 1) GHE GIFG (B)

What number is in each gift?
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JDHAT'S I GHE GIFG (B) ADSHERS

What number is in each gift?

10

25 5 7
30 10 8
60 10 8
60 10 7
12 6 2
28 4 4
10 2 9
42 7 9
40 8 5
72 38 4
72 9 7
90 10 2
18 6 3
21 7 2
6 3 10
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DHAG'S 11 GHE GIFrG ()
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What number is in each gift?
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DHAT'S 1D GHE GIFG () ADSWER S

What number is in each gift?

10

15 5 9
12 6 7
8 4 8
48 8 8
54 6 10
48 8 10
8 2 5
80 10 3
18 9 5
30 5 2
24 3 3
60 10 10
49 7 10
4 2 10
12 4 9
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JDHAG'S 11 GHE GIFG ()

35

80

90

16

72

81

What number is in each gift?
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JDHAGT'S 1) GHE GIFG Q) ANSIERS

What number is in each gift?

35 7 7
80 10 6
90 10 9
16 8 6
72 9 4
81 9 4
8 4 10
18 2 10
49 7 7
90 9 10
18 6 5
4 2 10
30 6 9
10 2 10
28 7 3
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JDHAGT'S 11 GHE GIFG (€)

What number is in each gift?

L
100 + 10 =) |
M“‘"“n—.
..
56 + 8 =[ﬁ|

16 + 8 =

32 + 4 =fﬁ

32 + 8 =fﬁ
L

35 =+ = 5

6 +ﬁ= 2

35 +[‘ﬁ= 7

63 =

40 =

merrgdhristmus from Mouth- Drills.com!




JDHAT'S I GHE GIFG (€) ANSTER S

What number is in each gift?

60 10 7
20 2 6
18 3 4
21 7 7
12 2 10
90 9 6
50 5 5
48 6 5
20 2 10
21 3 5
24 6 8
40 8 4
40 8 7
10 2 5
21 7 3
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JDHAGT'S 11 GHE GIFG (F)

What number is in each gift?
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DHAG'S I GHE GIFG (F) ADSTER S

What number is in each gift?

10

10

24 6 4
64 8 7
30 10 5
90 10 2
30 5 9
8 4 3
42 6 8
30 5 8
56 8 6
14 2 4
24 6 6
50 5 7
90 9 2
35 5 5
48 8 3
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JDHAGT'S 11 GHE GIFG (G)
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What number is in each gift?
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JDHAT'S YD) GHE GIFG (G) ADSHERS

What number is in each gift?

10

10

10

81 9 4
24 4 10
80 8 7
10 2 6
24 3 10
14 2 4
50 10 8
48 8 3
56 8 9
4 2 4
90 10 8
28 4 3
54 6 6
30 6 3
4 2 6
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JDHAT'S YD GHE GIrG (H)
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What number is in each gift?
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JDHAG'S 11 GHE GIrG (H) ADSWMER S

What number is in each gift?

6 2 4
56 7 9
27 3 8
16 2 5
8 2 3
30 6 2
4 2 4
54 9 8
35 7 9
42 7 10
42 7 7
6 3 4
36 4 10
30 3 8
16 4 8
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JDHAT'S Y1) GHE GYFG (X)
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What number is in each gift?
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DHAGT'S I GHE GIFG (J) ADSHER S

What number is in each gift?

16 8 9
28 4 7
21 7 9
40 4 10
9 3 7
6 2 9
25 5 7
20 5 5
32 4 3
42 7 4
35 5 4
4 2 7
6 2 6
16 4 8
54 9 10

merrg(fhristmus from Muth- Drills. com!




JDHAT'S 1D GHE GIFG (J)
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What number is in each gift?
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JDHAT'S I GHE GIFG (J) ADSHERS

What number is in each gift?

12 3 5
40 4 7
30 6 6
14 2 9
20 5 9
20 4 2
50 10 2
45 9 5
54 9 3
30 6 2
12 3 8
6 2 7
10 2 7
60 10 5
24 3 10
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